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INSTRUCTIONS (0g%50es .
1. Please check the Test Booklet and ensure that it cangains all the questions. If you find any defect 1n

the Test Booklet or Answer Sheet. please get it replaced immediately.
%, DEB06P R, D360 52200355 BT SrETIIBD. (F NS R, DTG E0E" M

. DT S0, RRE0S? SEBIR Jowd WERIS. | | o
‘ The text booklet consists of 4 parts and 120 questions. Part A has questions on History and Culture,

Part B has questions on Constitution, Polity, Social Justice and International Relations, Par:t C has
questions on Indian and Andhra Pradesh Economy and Planning and Part D has questions on
Geogr aphy. Each part carries 30 marks.

58 D9, DBS0S 4 Dvren SHoaty 120 HEens.D. 6 A &° rgh v 50, 2§ B &° smS%mJ&,S,
D, NDS 2D w:}? 0635356 BN, E‘Jug C & 208005 @08 05 DB ISP @G Dploh
00010 3§ D &° e’ P03, 8 ey $E 30 ST, SO0 IO,

3.  The Question Paper is set in English and translated into Telugu language. The English version will
be considered as the authentic version for valuation purpose.

PIDBED FoAS? Sorrdapad Beord er@adts BEEr JODEID. PEFEN DBID DY)
SATOFYE FOADD [DFD(BED [DOSTEBESOMT 810505200,
4. The Test Booklet is printed in four (4) Series, viz. | A rB_IQ D | The Series,@ DrE or|C |or [E

is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test Booklet
Series or nr%’ or E in Part C on side 1 of the Answer Sheet by darkening the appropriate

circle with Blue/Black Ball point pen.
0%, DB TeerD aﬁg&:‘nwéﬁ (Series) e |A|[B | EJ |£| ESQMEJ@Sﬁ SVO0BVESD. Ha SFSDO

m® [B] md [C] md [D] md @4 sian cig, 55t 28 083 arosd sn@osadso. 893
@, Dian o3, S (Series) [A | e [B] md [C] md [D] md sarmes disn ages 39 & C
306 ©0EHED SeravosaEs §Ea0m ap/erE end Sanos 8 Sorr Kg VoDSBD.

Example to fill up the Booklet Series

If your Test Booklet Series is A, please fill as shown helow :

@ ® OO0

If you have not marked the Test Booklet Series at Part C of side 1 of the Answer Sheet or
marked in a way that it leads to discrepancy in determining the exact Test Booklet Series,
then, in all such cases, your Answer Sheet will be invalidated without any further notice.
No correspondence will be entertained in the matter.

o (3% a0 AR SPEAD (Series) DI DS 25085 ) rE C &% 1DYowsEDsan ™
5 1DRODS S BB SN P B0 BeoETHWLH DS ;O 50 an,
edvsod ek, .ﬁoasq,asuaes*" S dewSod F0 8 BovwomdS Dairms DEHL

508DoDES (invalidated). HROD HOOD DeS083 SFTDEFTT0en 2HDEY).
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5.

10.

11.

Each question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than one
circle is darkened, the answer will not be valued at all. Use Blue or Black Ball point pen to make
hEaV}' black marks to fill the circle cnmplE'tEl}'. Make no other st_ray marks. Use of Whitener 1S

prohibited. If used, it will lead to invalidation.
D8 P TeorD FSPPRIVED ASREID. BOE TOADID 23ma JHEW JEFED 5/E55008° [DED

SePAV0BVAE IV AYMP SO DODITRD. &5 IS, DB &3, D020, €8 DT LRI
BN SBS0F PP HYMP B V0L 2P /ers end uowoes DD, FPESD- 99 VTR)
0G0 DY, PESE kot DRYOBERBO. EIS® Dairees Diann Ho8DODE;

e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :

SR (O, A0S, (SaPo 1 & 2357020 (2) ©000F,,E0 PN 63 (308 eSS0 MHOODSISD

1[0]ee]®

Use Blue or Black Ball Point Pen only, failing which your Answer Sheet will be invalidated. Gel
pens/pencils are not allowed. It is not required to darken the second copy separately.

ISPERS DEeR, Vo0ErDE 5 J5 50 erd o0 DL IPED TESSH SH0E JSPETD DBIL
DOTDoDDEE. BD Do,e, Eaﬂ)rge% SOBACBWERGED B0t o) D[R, BLOTP 00%) 9S00S5 0BE.

Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answer Sheet without the signature of the Invigilator is liable for invalidation.

JEPER DBS0S? Beroods gosnd® HOEEOR (Invigilator) @308, FOBSHV DOSSTAD. VO
DBDEER BOBEIN FSTHR DB B5H00FS 098 HOBoDHHD.

DO NOT fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet, otherwise your Answer Sheet will be invalidated.

&3 DS P WP 69 S5,MA, DBV SESESOMPR, Agen AoDerssn mY), DoDeorrD, Do IaDEO,
AT MY IVFS o DI HEa0 DOBD0DVE.

Using the Whitener/Blade/Eraser or any kind of tampering to change the answers on OMR Answer
Sheet will lead to invalidation. -
ISP DEBSNE? L aaren SR PORd, B, BW B8 O IEPD aertn SGro I

DSTER D(EBSD HOBDODED.

Do not marklanswer choices on the Test Booklet. Violation of this will be viewed seriously.
FESPERRSNOR (HF,0HS50 HYoToAED. HV QB0 (S0P DONEFOSEIN.

Before leaving the examination hall, the candidate should hand over the original OMR Answer Sheet
(top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his/her record.

DOF TOD SO ISV, WELY B HAPGRN HBS0 e.OBISR (IO, DBSV) BEE B, DTZENE
(Invigilator) @, 589 (duplicate) 557m0s DS (80O HEBEN) HIS VSR SFITD.
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Programming Calculators, Mathematical/Log Tables, Mobile Phones, Bluetooth instruments or any
other Electronic Devices will not be allowed into the Examination Hall.

@raooh SODOBE, rBslen Swd, 306, artrs DoSmed MY Sov JeS0S o5
DOSTANOR HOF Be0EVE @9:559R0BESD.

12,

13.  Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2 Hours. No candidate

shall be allowed to leave the Hall in the middle of the examination under any circumstances.

DOP Dendd wesHen Db ro dly; So% (2 rowew) SoESBD. 38y Sogsd 2 Dedmedin
2A30LED DODESH). |

14. If any candidate attempts to use any means to cheat/copy etc., he/she is liable for prosecution and
debarment.
2 VEE @ HSoR/sd nsern: S G008 @’bﬂtﬁﬁﬁ{"‘jﬁma T8 BHAIPMESD SoBATD 2T DpEas)
MO D)D),

18.

Rough work may be done on the last page of the Question Booklet only. It should not be done
anywhere else.

O 58,5 B8, H0&® D50 DBE s Sarrd. 38 J5E SaHom.

16. As per G.0O. Ms. No. 235, Finance (HR-I, Plg & Policy) Dept., Date 06/12/2016, each Wrong answer

will be penalized with 1/3™ of the marks prescribed for the question and that would be deducted
from their total marks.

G.0. Ms. No. 235 [@setore Qoo SPH,O 0G0 8Dy, NAFPLRHSVIE D €3 DT,
Sera00BIER SPE,L M08 U3 & S080 S7t5,0%0 BAOSEO DB,
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PART A
History & Culture

When did Portuguese admiral Vasco da Gama
come to Calicut ?

(1) 1478
(2) 1488
(3) 1498
(4) 1500

Which of the following pairs is not correctly
matched ?

(Event) (Year)
(1) Pitt’s India Act 1784
(2) Morley-Minto Reforms 1909

(3) Partition of Bengal annulled 1911
(4) Montagu-Chelmsford Reforms 1929

When did the French gain control overl3,

Pondicherry ?

(1) 1685
(2) 1697
(3) 1706
(4) 1733

Who introduced the silver tanka and the
copper jital — the two basic coins of the
Sultanate perind.‘?

(1) Iltutmish

(2) Razia Sultan

(3) Balban

(4) Alauddin Khalji

Who propagated pushtimarga, a religion of
grace ? |

(1) Chaifanya

(2) Vyasargja

(3) Ravidas
(4) Vallabhacharya

(4)

>H A
2398 52000 Kend

Doy e9d) 665 a*ﬁ‘bérrw 588 ©

(1) 1478
(2) 1488
(3) 1498

(4) 1500
308 TS O BADEILEID N ?

(0206x3) (oS3 do)
(1) ¢ Rocolr &3 1784

(2) Sr-Doots’ 1909
20%), BER
(3) Borrd JZaad & 1911
(4) 2worotory- Tray 96 1929
o) 0ese
J°0Cii3N0 DO PN TTYRDD BPSTYI)
JAodd ?

(1) 1685
(2) 1697
(3) 1705
(4) 1733

R0EPRALST0E' G0t AR TEPTR Dok
05"V, TN 2BV PDTDLBIED 7

(1) R

(2)  S2air oerar
(3) BV

™

(4)  ogradd DY
DDArY DY DS ?

(1) DD

(2)  S°FRTPOD

(3) OATR

(4)  oYerTrdcw
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Match List I with List IT and select the correct

answer from the code given below :

List I List 11
(Monument) (Place)
a. Char Minar I.  Delhi
b. Akbar’s Tomb II. Agra
c. Humayun’s Tomb III. Hyderabad
d. Ta) Mahal IV. Sikandara
Codes:
a b C d
(1) 1II I IV II
(2) IV I1I I I1
B3 1 IV I II
(4) 11 I IV 11

After 1857 revolt, Bahadur Shah Zafar, the

last Mughal ruler of India, was exiled to
(1) Bangkok

(2) Rangoon

(3) Colombo

(4) Kathmandu

Which of the following rulers of Mysore sent
ambassadors to France to bring in European

technology, and went on to build a navy ?
(1) Hyder Ali

(2) Tipu Sultan

(3) Chikkadeva Raja Wodeyar

(4) Nanra] '

[ 9)

6.

=
300 ws OBE To& g & TOD

206D S0 PArares  RAZIO
D@lgeod:
D88 1 038 11
(ng s@erev) (g’)eﬂw)
a. EE‘*G&;F& I. d@
b eg\®pAre 1L e

c. varclre 1L ardorerdd

I SPObLIA

d. od S IV. N80¢d
§&y:

a b C d
(1) III I IV I1
2) IV I11 I 11
3) III IV I I
(4) 1I I IV I11

1857¢° DPdo ST, ey WHB
FOHE  wrard > =6 IHAs
0 asrcd ?

(1) EJ‘]SG’S‘g

(2) Gofire

3) Seoes

(4) aJ‘GJ‘éoc‘.J

S0 QL TawsS FAD

TraErdRU  Dod, WG Q@ﬁgo&“
TGSV SIS PODGEPVS O T0
abbﬂmgﬁiﬁéﬁd.) ?

(1) 30656 €99
(3) é’)sbésb o°® uiradrd

(4) Soxord

www.eenadupratibha.net



GS1G/100

3.

10.

11.

12.

@3

www.eenadupratibha.net

Who said that, “Nothing can emancipate the

outcaste except the destruction of the caste
system” ?

(1) Mahatma Gandhi
(2)  Jawaharlal Nehru
(3)  B.R. Ambedkar
(4)  K.B. Hedgewar

Who wrote ‘Why I am an Atheist’, defending
total rejection of all religion on grounds of
human dignity and rationalist logic ?

(1)  Bhagat Singh

(2)  Chandra Shekhar Azad
(3)  Batukeshwar Dutt

(4)  Ajoy Ghosh

Why was Doddi Komaraiah, a village militant,
murdered on 4 July, 1946, in Janagam taluka
nf Nalgonda ?

1) He was Razakar who fought against the

Deshmukh, hence was murdered.

For trying to defend a
washer-woman’s mite of land.

(2) poor

(3) For defending thugs employed by the

deshmukh.

(4) For opposing wartime exactions,
rationing abuses, excessive rents and
Vethi (forced labour).

In the Indian context, ‘Drain of Wealth’ means
foreign power in India squeezed Indian
economy through various means and
transferred it to their native country. This
‘surplus’ capital caused ‘industrial revolution’
in their country.

Which of the following foreign ruling powers is
associated with the above theory of ‘Drain of
Wealth’ ?

(1) Aryans
(2) Turks
Mughals

(4) British

(6)

9.

10.

11.

12.

‘v DOE TR AT TPOS :—‘.Jobciréué
IO VBB &OHABFHEOEE" mpam'?

(1) mﬁﬁm& mod

(2)  2OTOS A
3) &.esb. 2902'31:565
(4) 8.0. 536

DL FHOIT &3) DED" V) DY)
©J)  QErURD  Podow), DPIITTE
$E\God rdvarg ST wwrdo
WAE'R TPR0BSE 7

(1) ZAd Doh

(2) o 3D €520

(3)  exd0S30 G

(4) €20 2

admo  Trars’, Yol R, S'cg_.

Sadapy 4 g 1946 & ok
L‘&DZJE.JE‘GJ?

(1) eoeddd Jratvd OO 5556550!1*
Forcd darseh sedtio DO

06 Ed Y DY sarmrod

QOB ocdclo BQ

B5A08 B DoHABTH G206 MR

Llotito S0

mng?u:q_) Dﬁawum, SO, VRS

OO, I oEdco S

OO0 DATFVE VoGBS’ R0

00k’ @ot), BT IHen FrESab e8¢

D) DRVES R éggc&b S AT°RS

acsé?m. & ‘@B8 VoD T80 Do

301)6 abw’g‘fqﬁ' & 50RO,

&Q‘bﬁ “H00E PBo" S DorIoBORD

Dé%a 20 ?

(1) e.sd)’sw

(2) mmmbw

(3) e

(4) DI

(2)

(3)

(4)
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13.  Who from

14,

15.

the following were :
associated wi
Subhash Changra Bose's | with

ndian National
i\r;my and faced the trig] in Delhi in 1945 9
) :

(b)
(c)

Shah Nawaz Khan
(d)

Bhulabhai Desaj

(a), (¢) and (d) only
(a), (b) and (c) only
(b) and (d) only
(a), (b), (c), (d)

(3)
(4)

Whose book ‘Unto this Last’ left a deep impact

on Mahatma Gandhi and he even translated it
into Gujarati ?

(1} John Ruskin

(2)  Leo Tolstoy

(3)  Michael Madhusudan Dutt
(4)

Maxim Gorky

In the early decades of the twentieth century,

caste movements began to proliferate in the
Indian society.

Which of the following movements are
related to caste-consciousness. leading to
caste-movements 1n particular regions ?

(a) Satyashodhak Samajin Maharashtra

(b)  Self-respect agitation in Tamilnadu
(¢) Ghadar movement in Punjab
(d) Bijolia movement in Rajasthan

Select the correct answer from the code given
below :

Codes:

(1) (a) and (b) only

(2) (a), (D), (c), (d)

(3) (b), (c) and (d) only
(4) (c)and (d) only

(7)

13.

14.

15.

%

d08 0" Qe oS D H9eS 056y, &5

God 1945 & ABS  Dmems,
NVaVpRSafer ?

(a) .8. P

(b)  2.I0. GEFR

(€) &P AE °o

(d) Howerow QAT

08 TS’ RGN BT HBoE
§&y:

(1)
(2)
(3)
(4)

(a), (¢) 00N (d) abeesal;
(a), (b) 0BG (c) Sy
(b) 0O (d) gy
(a), (b), (c), (d)

QPO DA VIS0 EFD, esaHis
RS '8 LADODD ‘WS & & ey

(A
D20 YAS0?

(1) & SIORS

(2) OAr ereSPals

3) DS DERrED 0
(4) S8y 8’66

WaAry 3Ry 9 siwed, ©o
GAJOIW D000 DELONOA.

208 TS DOV D ST Do
GOV FILOT SERDD D ?

(a)  DHIGE DS - DTTY

(b) Bé&ﬁ"db €C{a00 ~ DOOVIRCD

() b ﬁﬁsmu — Vo&"ed

d) DEOasr &C§s00 — ma?s

$06 TrAS” LT 2PN Dol
E'c'ib p
(1)
(2)

(3)
(4)

(a) 2000w (b) rghdy
(a), (h), te), (d)

(b), () So0akw (d) Sreghad
(¢) a00ck (d) Seghady
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17.

18.

19.
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Vijnanesvara wrote Mitakshara at the court of

the Chalukya emperor Vikramaditya VI. It
was

(1) A commentary on the law book of

Yajnavalkya
(2)
(3)
(4)

Treatise on inheritance
Law of primogeniture

Family feuds

Which of the following pairs is not correctly
matched ?

(Traveller) (Reigning Ruler)
(1) Megasthenes Chandragupta
Maurya
(2) Fa-Hsien Chandragupta II
(3) Hsuan-Tsang Harsha
'4) 1-Tsing (Yijing)  Ashoka

Which of the following pairs of temples and
places is not correctly matched ?

(Place)
(1) Virupaksha temple Thiruvananthapuram

(2) Kandariya
Mahadeva temple
(3) Lingaraja temple

(Temple)

Khajuraho

Bhubaneswar
(4) Mahabodhi temple Bodh Gaya

Identify the Sultan of Delhi who prohibited
drinking of alcohol, introduced market control

policy and inflicted severe punishment to
rapists.

(1)
(2)
(3)‘
(4)

Sultan Qutbuddin
Sultan Iltutmish
Sultan Alauddin Khalji

Sultan Firuz Tughlaq

(8)

16.

17.

18.

19.

Q

08 DSBS - VI 8PSet'd

e 3363 ERodeS DEAY

(1) olregedeny g g OFR90 WX
QP $0

(2)  PEIH; PSS

(3)  DoArRASE dgreo

(4)  Sodnoz) @oeh: ST

20BTOS® O™ ¢ DHDDEIE 2O ?

(QirHsocD) (D030
oea)

(1) DAY S0 I3
(2) -2rairS So@RPE I
(3) TVNS-EryorD PG
(4) @-8yof (a2oh) €95 €060
300NS’ O  eseado, Quo RO
'aasuc‘.dm ?

(esoal0) (d>ex)
(1) dErdrToae  BESS8SNG0
(2) SoBbaDh TAD PasSF

eswdo

(3)
(4)

doriora eseroHro 3133?5%55
0TSO eswao eSS ok

D O werd add o, 2°0) €5
Sof'S Do, wErEmTen 32D T
SO LoD e DBTE ?

(1) 0P SR
(2) ROYPR RV

ROEPR L GO a'.)g
0P DOE Suis
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20. Point out from the followin

L g sufis, who is f
the Chishti Suf Silsilah ? o

(1) Shaikh Gesudaraz

(2)  Shaikh Nuruddin Rishi

(3)  Shaikh Bahauddin Zakariya

(4)  Shaikh Sadruddin Arif

21. The First Round Table Conference was held at

London in 1930 to discuss

(1)

Future Constitution in India

(2)

Dominion status of India

(3) Trial of the Indian National Army

prisoners

(4)

To hand over power

22. Muhammad Ghori’s forces won the battle

fought against Prithviraj Chauhan primarily
because of

(1)  The better war slogans of the Turks

(2)  Superior war technology of the Turks

(3) Use of gun powder

(4) Use of guerilla war tactics

23. Third Battle of .Panipat was fought between
(1) Akbar and Hemu
(2) Humayun and Shershah

(3) Maharaja Ranjit Singh and Madho Rao
Scindia

(4) Ahmad Shah Abdali and the Marathas

20.

21.

22.

23.

G

9. e O L) v
QY A DS der & OVG JFoss e
DA ?

(1) 2§ Swdora

(2) 28 AreQS 6
(3) 28 PORQS 2stdasr
(4)

28 DO 30D

2068 Tl B HArdie 19306
006D &5 Do $980eGeS Dﬂﬂhéam_)oa; ?

(1) erOHR3 6,53‘;)55 oo (o(fo

(2) POHR% o F o

(3) TOIBIODVD B Deedies

(4) @@S‘U"-ﬁi @&béa:bc:b:)é

DBEE W QT A0 DI ey
LGodd 1DAR G0

(1) md::a’pbe.: aing A IPTIPe) O
(2) mm‘:pbv mggmwsmg
3) 6 PA oo S0

(4) 50y odwg drabe d¢

S¢S aoazbg) adngo D8 ¢S5 20000 :
(1) e98ydd SOk TP
(2)  JVAFCTD OAR D6

(3). HoHfTre Go2& 2ob B0 I8

T°a ~ododr

4) s X ©\® HoBot Joeden
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24. In January 1565, the Battle of Talikota Wi . ey %

fought between 1) oo 3"@"&50 ~00akn GSZ]&J

. . the
(1) The Vijayanagara Empire and APV
Deccani Sultanates 9) ST 4580300 ALV
‘ halS v
(2)  The Marathas and Mug 3)  ArdE 000e25 <0O0IL AWIVLVY

Mali d Mughals <
(3)  Malik Ambar and Mug @ B foerS Sooakw e e

(4)  Tipu Sultan and the Britishers
25. w000 JVPIVOR SO DYy

25. Name the Rana of Mewar who Empl“yEd ,3c53r3§°.;jl ;530‘5(5 O°L :

Baksariya Muslims in his army : (1) ove £025

1 [Rana Kumbha (2) O oD ~oh

2v Rana Udai Singh i
(3) T RO

31 Rana Prata
: . (4) O o8 Dobh

41 Rana Raj Singh
26.  SGIE)S ¢5°, Favd o prardsed,

In medieval Deccan, Deshmukh was a village ARS8 sPELD -

[
F’.:

official, who was responsible to 1) Beoe o ) ""-3"*‘1{1 o

(1) Collect land revenue from the peasants
and to deposit it in the State treasury

E7mrgoes” 2 dabio

(2)  Collect chauth from the local chiefs (2) S BHSEHV Wod TS ST

(3) Maintain soldiers oo

(4) Keep watch over the merchants 3) 2 ,SDl ﬁmgﬁdﬁg AT
(4) TG S DT Gouseo

27. In which year was the Rail network started
| . 27. Soero Aow TFRIL Gen AEDAD

from Bombay to Thane ?
(1) 1847 1 nJOééDﬁﬂ :
(2) 1853 | | (1) 1847
g (2) 1853
(3) 1858
* (3) 1858
(4) 1876 ' | (4) 1875
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28.

29.

30.
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Chronologically arrange the

Governor-Generals of India.

following

Select the correct answer from the code given
below :

(1) Lord Wellesley

()  Lord William Bentinck
(1) Warren Hastings

(iv) Lord Cornwallis

Code :

(1) (i), Gv), (), (i1)

(2) @), (), (iv), (iii)

(3) (D), (i), (i1), (iv)

(4) (wv), (1), (iii), (i)

Arrange the following rulers of Gupta dynasty
in chronological order :

(i)  Chandragupta II
(i1) Skandagupta
(i1i) Samudragupta
(iv) Kumaragupta I

Select the correct answer from the code given
below :

Code:

(1) (), (1), (iv), (ii)
(2) (Gv), @), (1), (ii1)
3) (i), (i), (1), (iv)
(4) (1), (i), Gv), (iii)

The poet Bana was patronized by which of the
following rulers ?

(1) Chandragupta Maurya
(2) Harsha

(3) Ashoka

(4) Vikramaditya

(11)

C

e

2GRS &)

308 'Et:)')?ﬁ (ﬁ{)ﬁ‘lcb

gre (IO ?.‘JCDQDDC‘..

3068 AND VWS 334 D)
rBotdocs
i) ef Y

(i) ©d QDo Bods
(iii)  °0R E:vfgoﬁs

(iv) ©°8 sﬂélmb%
5.63 .

(1) (), (v), (1), (i1)

(2) (i), (1), (iv), (iii)

(3) (1), (), (11), (1v)
(4) (v), (), (i), (1)

g0 MY T°ON SPUrMEIoMT (LOooc,

(i) So@rRpE Il

() )00 L
(i) BB
(iv) amam@m I

308 ToBS’ HJD BT7eD HBoSE :
9'&:, .

(1) (i), @), (v), (i)
(2) (@v), (1), (i), (iii)
(3) (i), (iii), (1), (v)
(4) @), (i), (iv), (iii)
EPREDR PN0WN TPBIE?
(1) oD S35
(2) G
al
(3) @

(4) agwam5c‘.:
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(12)

GS/1G/100
PART B
. ' X : 1ce alld
Constitution, Polity, Social :Illstlc
International Relations
31. Choose the correct answer from the fqlluwmg ' | 31.

(1) A member of an All India Service can.be
dismissed or removed only by the Union
government.

2) A member of an All India Service can be
dismissed or removed only by the State
government also if he serving under the
State.

(3) In India. State Government employees
administer State laws only.

(41 Union  Government  through  its
departments administers Union laws.

32. Regarding the powers of the President, which

of the following is correct ?

. : . : 32.

(1) No previous sanction is required or
recommendation of the President for
introducing any legislation on any
matter.

(2) Courts are debarred from invalidating
any legislation on the ground that the
President’s previous sanction was not
obtained.

(3) A money bill can be returned for

re-consideration.

(4). President does not have the power of |

disallowance of a bill of the State
legislature, which may have been

rreaerved for hisl consideration by the
Governor of the State.
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ﬁa‘)l S DS H U"g TR E‘ﬁ,
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GS/1G/100 (13)
33. Match the following : 33.
a.  Reprieve L Reduce the scimount of

sentence without
changing its churacter
h. }L{{"Spitp 11 Huhr-‘-lillll-i: one form of
punishment for other
of o highter character
¢.  Remission 1L Awarding lesser
sentenge
d. Commutation 1V, A stav ot execution of
sentence
Codes :
a b C d
(1) IV [11 I 11
(2) 1 I1 ITI AY
3) IV | R 0§ |
(4) III I I1 IV
34.

(3) The only authority for pardoning al

www.eenadupratibha.net

Regarding the pardoning powers, choose the
correct answer,

(1)  Under the Indian Constitution, the

pardoning power of the President and

Governor are one and the same.

(2) For offences made under Concurrent
lists, without the State role, President

alone has the pardoning power.

sentence of death is the President. |

(4)  As regards suspension, remission, the |
Governor does not have a concurrent

jurisdiction with the President.

30t TP RADEDOG

18 5‘;5 L. EJ“E"'SU f'bE'J‘:)l
E‘.)J‘CSDSJOCI“ D‘S‘ﬁb
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. O [11. 69.)2:;5 QoG
DHoSEo

d. SEJ.D}SGj'&'JL-S IV. So&dedd QéDSJ"ses
Saterda &

§' éa .

a b C d

(1) IV I11 I IT

(2) 1 I1 I1I IV

3) IV 11 IIT - I

(4) ML I 11 \Y
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ST God,
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BOTCe T8Fonae, 8 O°R0B38 Godd.
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GS/1G/100 (14 )
35. A sitting of the Parliament can be terminated 35.
by adjournment, prorogation or dissolution. In

this regard choose the correct answer.

(1) Adjournment terminates sitting a- well
as session of the House.

(2)  All pending notices meheoing
introducing bills lapse on prorogativot.

(3) Dissolution ends all business ncluding
bills and motions before the Lok Sabha.

(4) Adjournment  sine  die  means
terminating a sitting for an indefinite
period.

36. Which of the following Liberties is sought to

be secured to the citizens of India in the

Preamble ? 36.

(1) Thought, expression, belief, faith and |
worship

I

(2) Thought, expression, belief and faith

(3) Expression, belief, faith and worship

(4) Thought, expression, faith and worship

37. Recommendations for the 141 [Finance 37

www.eenadupratibha.net

Commission are valid from

(1) 1% April 2015 to 3ft March 2020
2 1% January 2016 to 31% December 2020
3) 1% April 2016 to 31“.Mm-h 2021
4) 17 anﬁary-hﬁﬂlﬁftofﬂ 1"‘ Deﬁambler 2021
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(2)

(3)

(4)

D 10852015 200 31 56y 2020
(2) 123386 2015 oo 31:’.‘.50&:5 2020.
3 19062016 &0d 31 a6y 2021
(4) 137542016 200D 31 &oesd 2021
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GS/1G/100

38.  Which of the following bodies concerned with

[nter-State relations are Constitutiona] ?

(1) River Water Tribunal
(2) Inter-State Council
(3) Zonal Council

41 Zonal Tribunals

39. M.M. Punchhi Committe ppointed to
study Centre-State  relatin- Regarding
Punchhi recommendations ull 11 following

- statements are correct cxcep!

(1) Localising the Emergency  Provisions
under Articles 355 and 356 either to

district or part of district.

(2) Deployment of Central forces without

State's consent for a short period.

(3) In appointing the Chief Minister,

pre-poll alliance should be treated as

one political party.

(4) National Integration Commission shall

meet once in two years

(15)

C

38. Trare Way Tejol DO Dowotied” Sob

OS" D ercs DIBRVO
(1) &6 A& SearidSy
(2) G‘g’@ D0 SN

(3) gi}ﬁj ?Dges

4) B0 Sy
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DTN DGR, rod S8 BDD
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GS/1G/100

40.

41.

Regarding the composition of the Legislative

cxcept

(2) As such administrator independently of
" 'his Council of Ministers. | h
(3)  Governor can form his choice of Council
of Ministers for aid and advice.
(4) A Governor of a State cannot be

Council, all following statements are correct.

(1) 1/379 of the total number of Council =hall
|

be elected from local bodies.
|

1120 of the total number of Council
shall be elected by graduates.

(2)

(3) 112t of the total number of Council

shall be elected by Teachers.

/13t of the total number of Council
shall be elected by Legislative Assembly.

(4)

The President may appoint a Governor of a

State as the administrator of an adjoining

Union Territory. Such Governor 1n the

administration of Union Territory shall

exercise his functions

(1) On the aid and advice of his Council of

Ministers.

appointed aﬂ__an..,Admipﬁgtrator of a

Union Territory.

40.

41.
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43.
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(17)

Parliament has the power to enact laws with

respect to a matter in the State list in the

llﬂtlﬂ!‘lﬂl lﬂtﬂrfc‘ﬁt. IH thlf':n r{-_‘gul*d {'h“”:.:l[. th{]

wrong answer.

(1)

(2)

(3)

On the request of two or more States.

Legislation for

giving  effect  to

International agreements.
Both Union and State governments have

absolute freedom to make laws related

to Concurrent list.

Inconsistency between laws made by

Parliament and laws

made by the

Legislatures of States,

Due to the existence of which article, the State

cannot interfere and di:-?pug-;:-;t::.;:_: ) [.“,'_‘;“”.H!I-;:].

property ex cept

In  accordance  witl

”Ii'

procedure established by law ?

(1)
(2)
(3)
(4)

State Government can pass a law imposing
restrictions on goods imported from other

States. Such law shall be moved in the

Article 300
Article 330A
Article 299
Article 299A

Legislature of a State without the previous

sanction of the

(1) Governor

(2) President

(3) Union Government
(4) Inter-State Council

42.

441,
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45.

46,
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Choose the correct answer relating to the
Supreme Court of India :

(1) A Supreme Court Judge addresses his
resignation to the Chief Justice of India

(2] The Supreme Court does not have the
power to review its own judgments

(3)  All Civil and Judicial authorities in

India shall act in aid of the Supreme
Court

(4)  The Supreme Court has the autonomy to

make rules for the practice and
procedure of court

The Objectives specified in the Preamble
contain the basic structure of our

Constitution. In this regard choose the correct

ANSWOeT .

(1} The idea of basic structure is explained
in the Constitution passed on 26th Jan
1950.

(2) Basic structure means that which

cannot be amended in exercise of the

power under Article 368 of the
Constitution,

(3) Parliament is the supreme authority on

the basic structure of our Constitution.

(4) Courts have no jurisdiction on basic
structure of Indian Constitution.

{18)

45.

46.
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417.

to ensure the efficieney of (he

(1)
(2)
(3)
(4)

Estimates Committee pe

Most 1mportant components of <

www.eenadupratibha.net

(19)

lated to which reform

thlluwing ?

Administration reforms

Financial Contrg) reforms

New Legislation reforms

Estimates for difforent Program reforms

cularism are

mentioned below, except

(1)
(2)

(3)

(4)

Equality incorporated in Article 14

Prohibition against discrimination op
ground of religion, caste. ete.

Sentiments of the majority of people
towards cow and against its slaughter.

Not applicable to

irreligious
persons/citizen.

49. Social justice enables the Courts to uphold

0.

legislation, except

(1)
(2)

(3)

(4)

To remove economic inequalities.

To provide a decent standard of living to
the working people.

To protect the interest of the weaker
sections of the society.

To enact unquestionable laws to protect
certain people of the society.

A person whose freedom of movement has

been taken away by imprisonment or

" detention does not thereby lose his freedom of

R
)

- (3)
(4)

Expreésion
Profession =~~~ ' *
Employment

Earning

47.

48.

49.
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GS/1G/100 ( 20 ) GS/1!
. . = | o 4 aa
51. Regarding the Habeas Corpus, choose the|91. oF AIS ?53'5 A00w) PIN o 53.
wrong answer. h mgﬂtﬁﬂ&..

1 PR SOy TR O 56 ¥
(1) Habeas Cnrpus safegum*dﬁ the hiberty

“ . 5 5 2
. S IS D
not only of the citizens but also of the Qg__.ieb éb@'ﬁl & N2 5 5
~ persons within the territory. SR COB00.
| ' ') e po Y1)
(2)  Writ of Habeas Corpus is not to be| 21 WS L:g-) AN D8 m@@‘é Jor 2
entertained when a person is committed |_

HEVRYY &R D S7erR S6YR 08
|
to judicial custody or public custody by

090AE000ICYD).
the competent court.

F.
(3 Qﬁngﬂs Eﬂtﬁ“ﬁe}:.:_)_ e Soﬁ)'a 6‘
(3) A petition of Habeas Corpus lies against "

5652 crr SE B0 DS
the executive authority, not available DR &O 2>
against the private individuals. ?asé@m‘ﬁ&)d@- |
> 5 e S1e10) e
(4) The Habeas Corpus petition cannot be (4) TP SOyN PORD  ORVOTG
dismissed on the ground of imperfect FBoDBL DY SRV
pleadings.

52. Tpdrobd XowoBodd &880 80yOS
g 2N PRI (Qocdod
52. Regarding the Directive Principle of State D80S L0 AR

Policy, choose the wrong answer.

(1) O°RQ ©DIE IS, TG T°L) O

(1) Directive Principles have been held to P OOErIS ©RVLOGOTT Qﬁ%«ﬁ

supplement Fundamental Rights in ;_;KJD;)QS grcjbama_

~ achieving a Welfare State. @ &o %‘5 2 ,‘.'."J:) % QS) OB OO0

Baerdd ;oS S
| ngh ts for implementing the Directive . E‘anE.J 45 Jy d—") Aotrcs.
"' Principles.

(2) Parliament cannot amend Fundamental

(3) TRo ADE SR> Sowces® DB
(3) It shall be the duty of the State to apply ~

(100NN 9HNGo &God.
these principles in making laws.
(4) E080 RSy @ EWD TPy O
(4) Directive Principles do not confer any | B . |
enforceable Rights and their alleged s fﬁmwad:ﬁt:ﬂ.b NOROWS og’om
breach does not invalidate laws. 000 BoDEEE DHAGED.
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53.

statements are correct,

(1)

(2)

(3)

04.

Find

Judicial Review.

(1)

(2)

(3)

@

Regarding

The orders passed by the Governor of a State

(Article 163) of a State fall in four categories

www.eenadupratibha.net

1 21)

3
the 'overnor, 4]

1"”“'. }“'i]]g
E.’t.'ﬂt’pf

Governor is not answerable t e1ther

House of the State

Governor is not answerable tq either

House of the Parliament

Governor is not answerable to Council of

Ministers.

Governor  shall quit  his  office

immediately after expiry of his term

out the category which is not subjec 10|

53.

04.

The exercise of executive

power

accordance with the provisions of the

Constitution by or under the order of the

Governor

Orders passed by the Governor on the

aid and advice of the Council of

Ministers headed by the Chief Minister
Orders like grant of pardon

Where the Governot acts without the aid

“and advice of the Council of Ministers

and acts in his own discretion

&
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R9:)
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93.

Regarding the Union Council of Council o

www.eenadupratibha.net

Ministers, choose the wrong answer. '

(1)

(2)

(3)

(4)

06.

The Preamble may be invoked

A Council of Ministers must always
exist to advise the President.

Even after the dissolution of Lok
- Sabha, Council of Ministers exists to

advise the President.

Even after the resignation of the Prime

Minister, Council of Ministers exists to

advise the President.

During the period of National
Emergency, the President acquires
discretionary powers, and can take

independent decisions.

to dete:_'mine

the ambit of

ey
@
(3)
@

57. Regarding the Article 15 of the Constitution of

Political welfare
People’s demand

States demand

Fundamental Rights and Directive

Principles

India, find the wrong answer.

(1)
(2)

Article 15 is limited to citizens only.

Article 15 clause (1) and clause (2) both | ;

" are limited to’diserimination on grounds

(3)

(4)

.of religion, place-of: blrth,,etc

Article 15 permﬁs the State to make

special  provision for women and
children. :

Article 15 also permits the 'State to
make any special provisions. for SC, ST
and socially and ecunomlcally backward

classes of citizens.

|

1

(22)

f| 55.
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@656 15 s (1) R (2) S0y
Sodo, DB rotho. DA - o8
Zlmleloipid RAFHBVLD LoD
3065 15 mgo& 5 oo So
9655 @mmmm faast:‘.bé Theica e
QoL |
@6&5 15 wgga@"% nDch .6
500050 &0¥arP, DaiI2ESalP. SDE W
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58. Which of the following are not the federal

features of the Indian Constitution ?
(1)
(2)

Rigid Constitution

Bicameral Legislature

(3) Independent Judiciary

(4) Office of the Governor

59. What option does the government exercise and

60.

(1)

@

legislators have when they do not like a

decision made by the Supreme Court ?

Pass a ldw challenging the decision

2

Pass a constitutional amendment that

circumvents the decision

(3)

Both are options, pass a constitutional

the
decision or:pass a law challenging the

amendment ‘that circumvents

. decision

(4) No options are there before the

legislators and executives

-

Regarding the disagreement between the two
Houses of the State Legislature, which of the

following'is correct ?

(1) 'The bill ends and becomes dead

To resolve the issue a joint sitting will
‘be called for -

(3)
interpose some delay in the pasﬁage of

the bill

() .
like Rajya Sabha .

The only power of the Council is to| -

Legislative Council is a resolving body |

3)

08.

l
59.

60,

@

(1)
(2)

- (@®)

S0l o835 e Trafof DEOS O e
520D DO?

(1) GyeRod TEjonio

(2) Boch SR0TR B
(3) RS0y FODIDY
(4) (DG)G STOPgROdO

0B 8 ODFTD0 RN Bdy By

wArS drhjo STRDNW DIE(IE M)

FOHDGVD TR GJ) WS Do ?

(1) bgo:bﬁ:)l T°T0d W §¢ cs-gual
i (eublats

o Cly a0t aotd AN .‘{Jgaﬁr.ﬁl

ad‘&b&m‘.ﬁbu

(3). » Totr, AGAIrY) rOed Ir S
PR Wadclo, TRfof @& ot

- T(O° AGOITA) S0 Bocito
2008500608 YEPEBD SANG & 38
o) 9IS Fo 65.‘;.:

(4)

R TRDIPL ToldS '  sDHProdo
DE6 LS $0d TBS® DB HTHE?

DS J0AERYDHIDY H0yd BocHedod
QIR DO OIS Tocd DIV
SR GRS -:Ju‘héa.) ATV T ATAR 13 BleTA
SAS D 10 ZE HTCo & DY
LN 0 oo |

TR ‘cba_ﬁgrczn waS‘:aap Pl OG0
DODED

@)
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Indian and Andhra Pradesh Economy and

61.

@

- 62.

63.

A
N

64.

S (4)

Ty

s ()

PART C

Planning

At present with which name 1s Swarnajayanti | 61.

Gram Swarozgar Yojana (1999) implemented 7
(1)
(2)
(3)

National Rural Livelihood Mission
Jawahar Gram Samridhi Yojana

National Rural Employment Guarantee

Scheme

Aajeevika |
62.

What s the basic goal of “Mission
Indradhanush” launched in 2014 by Central

Government ?

(1)
(2)

Immunization ,
Providing = irrigational facilities to |
agricultd‘ral.land pnldings

fﬂ: the |

Ericﬂuraging entrepreneurs

3)
~ establishment of small business units

Ai] of the a]:iuvé %

In relation to Andhra Prq"adesh,- which of the|gg

following applications has received CSI
Nihilent Best e-gnvemance Award during the

year 2017 — 18 ?

(1) C-Krishi |
D-Krishi 0
(3)  E-Krishi L - i
(4) .BTI{TIShI S ¢ - .
Which ﬁrgan_izgﬂt_ipﬁ. lauriched R@pﬂy card ?
1) RBI | R | |
(2) 'NPCI | oy * .. If. .
(3 SBL... . - e |
‘Government of India - = 1

Q

> C

2oGo%R ok esoy @’:éﬁéﬁsﬂ’@i ook ﬁ:ﬁcﬁ

Diodo  D(GRaDod  Orad DB T8
Sz (1999) O HEHSE e’ God?

50965 drdes S ok 1AS
2576 PaD D0YE CITBN

(1)-

(2)

(3) DS drgesS doJrod 20085 TBod
‘%5‘) '

(4) = e3RDS°

2014 &° Sog B0 IO BAR™ ma
@ugqﬁmd’ DG Q£§5J313937 |
(=ESRVIESIRTS

SIEIleN ZAneroTrdd DDA

(1)

(2)
202000 HAEVAD éﬂbmﬁmu

(3)  OJ) ms&wa é‘gaﬁ%ﬁs:e.:tm
g‘i’ﬁab"ﬂféﬁ)ﬂ |
(4) PO

es06 QFOBY quojnné“ 306 TS D wﬁgé::@a
2.05.2. NTTols @-(150) Dy &P
IRy 2017-18 %0.85° ﬁw:‘.‘.q.)gn& ?.

1) Hgx

(2) &S

3) @-Eyn

(4) D-%ya

" -D‘-"_rbo‘:‘-'a B0ed ?gam'é‘doﬁuao&?

1. @6.D0.(RB) .
@ ddbdo.MNPC)
3 25.9.0. (SBI) L

TEIRE  PBS (Govem'meﬁt' of

@
~ India)
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65.

66.

67.

68.

. &
i s

MRS i

ww.eenadupratibha.net

Which is the program that has the theme “One

~ Nation — One Scheme” ?

(1)  National Rural Literary Mission
-(2)  Pradhan Mantri Swasthya Bima Yojana
(3) Sabala
(4) Pradhan Mantri Fasal Bima Yojana
During which period did India have
- continuous current account surplus ?
(1) 1990-93
(2)  2001-04
(3) 2005-08
(4) 2009-12

What is the maturity period of treasury bills

issued by Government of India ?
(1)
(2)
(3)
(4)

14 and 91 days
91 and 182 days
91, 182 and 364 days

14 and 182 days

Which of the following statements is not

correct regarding Basel III implementation in

India ?

(1) Minimum Tier 1 capital ratio should be

8%
(2) Tier 2 capital should be maximum 2%

(3) ‘Minimum total capital ratio should be
9% o

(4) Minimum tuf.ai (::Elpittﬂl ratio plus capital
“conservation buffer should be 11-5%

148

1

|

6o.

66.

. (4)

67.

68.

_C_] |

"y & A%o - ws fabn" I} @GD"&J SAB7
5756 droe D6 S (National

Rural Literary Mission)

(1)

(2)  DEPO0S :-‘05@535:13 e
(Pradhan Mantri Swasthya Bima
Yojana)

(3) Hewo (Sabala)

@) HEPRdRY DS DA Ared

(Pradhan Mantri Fasal Bima Yojana)

2108308 O RoDBVTVES” AT eos BB
DG&J’SQS Z800° 200087

(1) 1990-93
(2) 2001-04
(3) 2005-08

92009-12

268 DESc0 G226 Dwodd ady VOO
srORV0h? |

(1) 14 20030 91 Seven

(2) 91 dodw 182 Favew

(3) 91, 182 206akw 364 Baven

(4) 14 Sodatn 182 Baven

G390 83065 111 evsdenes® GodHdme

308 GG TS’ IO Sy

(1) oo 85 1 sPabs g 8%

‘God

86 2 S1OS Ard\d) 2% ot
2AHH WS SHOS G 9%
Sod. |

DAK VS sHHS ind ©O
SRS €od8AS w6 11:5% Gotd.

(2)
(3)

(4)
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69. Which of the following in general 18 eligible as

70.

7L

(3

@

a borrower under National Rural Livelihood

Mission (NRLM) ?

(1) SC/ST women and non-SC/ST women

(2)  Women self-help groups
(3) SC/ST and non-SC/ST men

(4) Any of the above

What is the objective of National Credit Fund
for Women, launched by Government of India

in the year 1993 ?

(1)

Empowering women by providing micro

finance

(2)

Rural poverty eradication

Making women self-reliant to take part

in the decision making process

(4) To meet the asset needs. of poor and

assetless women in the informal sector

According to 2014 Reorganization Act, after
the bifurcation of the State how many revenue

divisions are there in Andhra Pradesh ?

(1) 46

(2) 54
(3) 50

64

(26 )

69.

70.

1l1.

"(4)_

g

£ N30 000 e
B985 60 g9 ok wRN O N
HTDD?

SiEred & §o0 705 @

F r \F.
(1) d02./8. ’gw, ;3,.:..2;'./ .8, 0
(2)

(3)

(4)

1993 & roeQEdE QU3 Do

30965 3445 Dok VLo 07
(1) #Arg) PRy T QUL FOT0LS

(2) [Pou D608 AU O

(3) Jeo  NGIGD aGrGDG  Dgoiren
S8R Q"m}é 3 Puate)

4) O erdo GIDETO  WIVTVR,
0RBSBE Borfols®D O esgrdo G Yo

0TV édae.ao

2014 &§° DFBaTFHotto 0BT & Dr‘\')‘l

GREBLE-HESE amlm? |
(1) 46
(2) 54
(3) 50
- 64
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72.

SE

73.

iy’ (g -

74.

75.

I

~ construction

(@

(4)

www.eenadupratibha.net

After bifurcation, according to the suggestions
of: NITI Aayog who has to take the

responsibility of Polavaram

N Prﬂject ?

(1) Central Government

: ‘Staté Government

(3) Divided between State and Central

~ Governments equally

-

(4)' State Government with the help of

Central Government

Recently announced South Coastq] Rmiwuy
zone comprises of

Guntakal, Guntur
~divisions

and Vijayawada

Guntur, Vijayawada

divisions

(2) and Waltair

Guntakal, Vijayawada and Rayagada
divisions

Guntakal and

Guntur,
Divisions

(4) Rayagada

What is the name of the project launched with
the objective of computerization. of Urban,
Local bodies ?

(1) E-pragathi
(2) E-suvidha
(3) E-Seva
SAPNET

Which district in Andhra Pradesh has the
largest area under food crops ?

(1) East Godavari

(2) ‘West Godavari
(3) Krishna

(4) -Srikakulam

(27 )

72.

73.

74.

75.

.—|..l-_.__. PP
4
s

LC]
DD STS DB dBrhH dut Ay
o560 TBL" DOYOTDY6 JS?

(1) So@OEIOP
(2)

(3)

gﬂ%@@é&ﬂ
Sog TR RTR Q0GS Daorr
DZ50D ol

(4) BoEREOS] VIS Ced Ty QS0

addw pidosee S EJS 8g| &% &°

(oedSeD, (oL, Dealdare c*.aa@
(008700, DBODTE, T ADain
(oS, DBODITE, T°oDIEE G2
(00823, (OBSED, T aAE ADed

o, DY IS Fooro  LoriodE
9RO TPNS 380D 0DGD évaus: 987
&~ ( E-pragathi)

&-20D¢ (E-suvidha) .

&-05( E-Seva)

(1)
(2)
(3)

4) D S (SAPNET)

WogHd® S D 2 eg::ﬁa aabmmb
wa5@s 200 A7

(1) SrdNAcrdo
(2)  DIHHTHd
@ &7

4) Fs*Hvo
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6. “Sustainable Development is the development | 76.

that meets the needs of the present without

compromising on the ability of future

generations to meet their own needs.” Who

has given this definition ? |

(1) Brundtland Report (1987) by World |
Commission

(2)  Research paper by David Pearce, Giles
Atkinson in 1993 [Center for Social al:it:lI|
Economic  Research on  Global
Environment)

(3)  “Beyond Growth : The Economics of

- Sustainable Development”, book written

by Herman Daly in 1996

(4)  Research paper by John Hartwick in
1977

77.  Qut of the options given below, what should be | ey

the basic goal of “Sustainable Development” ? '

(1) Economic efficiency

(2)  Equality, inclusive growth

(3)  Economic efficiency, inclusive growth

(4)  Economic efficiency, equality i

78. Which 1is the curve that explains the|78,

relationship in between economic growth and
- ‘environmental degradation ?

(1)

TUEL )

@

- (4)

www.eenadupratibha.net

Laffer Curve | '
Kuznets Cur\;e : r-;
Phillips Curve . . sqaid. 4

‘TS DR SEEITO BSOS
CS'ah dre wdHRs, TO YINTUL

Cestiodo  §DAoSone BN | VA

2D okrdy” & OGP0 60 ?

() oz erjol O (1987) ®Dog
NS

(2) VOFTED Do EDE DOy, Oy
o3y 1993 (o6 D 20865
ol JETE BV6y @R feseS
ISR a008)

B) 0D edo : s FTDIR’
60 oD, 1996

(4) 2 TS, DTG Do, 1977

RDB)Q"8 S0 @YD .mgbeS“ TR
S°GE30)00H 7

(1) €808 DJGS .
@) Rard3g0, OB DB
(3) 88 pAGS , DB DB
(4) Esgé :amgé : héﬁiﬁéﬁe, -

D 3%0 eps  edngs ;;U's;:im
LSRN 020Gy DDORCA?

(1) orHd HgD

@) - &a¢§ 58 :

I .i
- (3)  DBEIGy Hg

@ .«'.:BSéasga
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79. According to 2010 Human Development Index

81.

82.

(2
e

| (3)

,, calculated. (Compiled and Computed from

UNDP Human Development Report) for 169

. __cuuntnes what is the rank of India ?

W 125
@ 119
@ 108
(4)

101

| What 1S the apprnach fullnwed h}r Natmnal
““Instifution For Transforming India Aayog in

~.the economic policy making ?

(1) Top-Down model .
Trickle-up benefit model
rdne size fits all

Co-operative Federalism

(4)

Though relmuira]

mennoned as one of the objectives of economic

of unempluyment is

i plam:lmg iri all Five Year Plans, from which

plan onward is serious concern shown for
solving the unemployment problem ?

(1) Third Five Year Plan

(2) Fourth Five Year Plan

(3) Fifth Five Year Plan

(4) Sixth Five Year Plan

Which of thé following statements 1is
incorrect ?

(1) About 60% of agricultural lands have

irrigational facilities.

About 55% of net crnpped area 1s rmnfed
in India. -

HYVP
.crops.

(2)
was

Green revolution "led to intensive

cultivation.

(4)

mainly - constrained for |

(29)

79.

80.

81.

82.

50106° Jrdd VDA RESY THV Hsdo
(030.d0.6.D. 0 SRS 0DBY 6T'W)

500 g6 169 BTG D) 3 3807

(1) 125
(2) 119
(3) 108
(4) 101

5006 @S P D6 w08 edrh wos
OEPRE S0508 RVDOROR) QrfEr ;33‘57
(1) D &0 e

@) E3B83S 0D BIVE S

(3) 906508 28 & VBT B0

d)  EesHodd pEsdH

00 DoIIGHTIES WIHAL(Y SRS
oD  PED DS wsi
BroSRdrr, D Dod GRS Wod. T
SRAR0 (1o AEFOIL  Habveryew
BEMBOT) 00

(1) D0rEd DO PEPVS
(2) TR DoSHG DEFVS
(3) DED DoIDEG VEFVS
(4) @300 DVoddG VEFVS

08 A3 TseeS” 20 3y ?
(1) o) 60% OdFrah Fraved
DI 0IPD amammm#;@. |
TRy 55% S Brawen
EBB80e5 aﬁgﬂ:;ﬁéej Fotrd.

(2)

(3) TEDDL.  dopfer  5dobwd
20edo.
4) 06 ODURID  OS agaavwaé

%S e902000.
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83.

which programme was started in 2011-127

(1)
(2)
(3)

(4)

(1)
(2)
- (3)
(4)

85. What is the main objective of 12t" Five Year

Plan ?

(1)
(2)
(3)
(4)

86. Among the following National Income
Concepts, find out the correct one :

(1)

- (2)

(3)

(4)

. Taxes

To enhance food security and to make Indian

Agriculture more resilent to climate change,

Which sector comprises water supply ?

www.eenadupratibha.net

( 3

Rashtriya Krishi Vikas Yojana

National Food Security Mission

Sustainable

National Mission for

Agriculture

Rashtriya Krishi Bima Yojana

Primary Sector.
Secondary Sector

Tertiary Sector
Public Sector

Faster and more inclusive growth
Faster sustainable inclusive growth
Equality and social justice

Faster more inclusive growth

Gross Domestic Product at Market Price
— Gross National Product — Depreciation

Gross Domestic Product at Market Price
— Gross National Product at Market

Price — Net Income from Abroad

Grbss' Domestic Product at Market Price
— Gross National Product at Market

Price — Net Indirect Taxes

Net Domestic Product at Market Prices
— Net Domestic Product — Net Indirect

0)

8.

84.

85.

86.

PCHDD

€

| _.GWFQ& GS/

:.)5;55"053

TP OET A SIVOTT &0l Cﬁoﬁ;mvag 87.
2011-12 &° Q F'oro @"6023&1’)&)an?

(1)
(2)
(3)
(4)

D8 HEDT D GorrdS BodIO?

(1)
(2)
(3)
(4)

@

orRoh €y DS A3
523065 I (B DD
5
STl O LTOIS ;‘:;13;3.3"0:53 RODOQ
ora0d Sy HATe AT

FEE 2O o

200 'bg‘ﬁ
3060 bg&

HDE o570
© (3]

12 & DoSSGOEPOE GINE), VIR BRES

D7 .
(1) Se08 DOD DY
(@) 808,08 295 DB
(3)  RATDS0, FOTAS T Joo
'dsaa 5808 :)ba‘:.eﬂi);s;.,g
3065 RIWAD rOOAD Ted drres®
DBHO AO? | AN
(1) JrT)en DS’ B BI0H &G
= Are 830D GOyY — SELEY
(2) B0 L0 DendS’ Yo BP0 GG
= Qro 33D &dyd - S0 B2
T°RGs. L ¢ 5w
(3) SO0 DS Yro 30D &I\
= Arg) 4 dewdS Pro B0
&S\ — DG VOE D)y ew |
(4) O JedS JSH B30H &

DEG BIAH &S\ — VS DBL
D) |
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37.

88.

89.

90.

2) 56%

. poverty line in India ?
) 21.9%
(9) 20%

| ) 22%

www.eenadupratibha.net

Whﬂt is the method used to calculate chrumc
unemplnyment ?

(1) Usuz_il status unemployment

(2)  Current weekly status unemployment

(3) -~ Current daily status unemployment
(4)  All of the above

According to the NSSO 68th round, what is thel

rate of unemployment in India based on usual

status unemployment method?

(1) 66%

3) 731%
4) 82%

In India, in which year was the “Special

Economic Zone” policy announced ?
(1) 2006‘
(2) 2000
(3) 1999

(4) 2002

According ‘to United ' Nations’ Millennium :
90.

Development - Goals Programme (2011-2012),

what is the percentage of population below the |

(4) 29.8%

(31)

87.

NeSDE DB 2R § e.;;jc:“aé >E

'.:csa A7

88.

89,

(1) Foidalela 5&555 N3
@) RS 6 A (i~
(3) Beard Wb Q3

(4)  ®Q) JEITW

d5.95. 0.5, 685 dwo ‘gsvdo AT
363&555 309 900000 SRR aaﬁgn
po;fn‘ibé Joed?

(1) 6-6%

(2) 5-6%

@) 731%

4) 82%

Pl @88 &X' Fod roddIes® O
oSG0 DDTRLAE? '

(1) 2006

(2) 2000
(3) 1999

(4) 2002

O30REBE 3‘?".153 D0 we‘;):),;,g OF(0
TP (2011-2012) Hsedo K6 S

Sods éa’n‘l AleTx fon eﬁauegﬂ Doch?

W 21.9%
@ 20%
@) 22%

(4 29:8%
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O1.

92,

93.

94.

95.

www.eenadupratibha.net -

{ 32)
PART D
Geography
Karaganda basin is famous for 91.
(1) Iron
(2) Petroleum
(3) Coal
(4) Manganese
Danube river flows into 92.
(1) BalticSea
(2) Black Sea
(3) North Sea
(4) Mediterranean Sea .
The ‘Hottentots’ are
(1) Pygmies of Congo basin
(2) Negritos of Sri Lanka having brown
colour
(3) Nomadic pasturalists of South Africa
(4) Negritos of Northern-Africa

There is a place A with longitude 060° West.
There is another place B with longitude

090° East. If, local time at place A is 10 a.m,

what would be local time at place B-?

(1) 8p.m.

(2) 10 p.m.

(3) 12pm.

(4) 6p.m.

Identify the pair that is not correctly matched
._S-'atcif ite Navigation  Owned by
System

(1) .GPS —— " [United States

(2) NGLONASS United Kingdom

(3) ._LG:ahlecr a— European Union

i S Wt

94.

99.

b D
- llgty

Ktioct B0 B3 VG 2 |
(1) Q0w o W
(2) 2ES’dovo
(3) eS“QJ
(4) Dooridd , ,
B8 36 D HanEees’ §eRod !
(1) E.J"gé RA0E0
(2) gr§ DIVEO
(3) &8 DIEOo
(4)  PoALBIOLS DINGO

E:Jsé.)c% eJ"‘?SD @33

(1) seoREHS A

(2) %msé‘a T Gord ::mes‘w

(3) 80 es® D BodD DoTE O SR e
(d) &6 w00 S

‘Y’ e HB%0 060° DI TroBo D &0k,

. e, ‘D’ 0 B30 090° By 5&3%?0 )

0D, S°ES B ‘D & iﬁ“abél 10, esc0
‘2)’ 5865 D dod ?

(1) 8uog
(2) 10 o°Q
3) 1208
(4) 6oTgd .
400 TS’ /IO sm'bé&: {EX

POTE TAODR ~ GoliV

32950 o
(1) 2.2.08. OrIBE ey
(2) 2.955.05.9.09. 5. CHPIEE SoHiSd
3) ¢DOG " or8HaHS
- we g O
1) D8.0.9.0.0. RoGeOdT®
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96.

97.

98.

(33)

Which one of the following pairs is not
correctly matched ?

(1)

Q)
(3)
-(4)

Dam/Lake |

. Riuer -

Gobind Sagar Sutlej.
Kolleru Lake Krishna
Ukai Reservoir: Tapi -
Wular Lake . - Jhelum

‘-IJ..

El-Nino is a cui]i]’ﬂ:éi" ‘i'féé-théf System that

appears once ever}' three ‘to seven years.

Consider the fullowmg statements In this

A.

~ regard :

The appearance of warm currents off the
Coast of Peru in the Eastern Pacific.

The word El-Nino means ‘Christ Child’
because the current appears around
Christmas in December.

El-Nino was one of the reasons for the
deficit rainfall in India (2014).

correct ?

(1)
(2)
(3)
(4)

A and B uniy
B and C only
A,Band C
Only C

Isfael has common border with

() .
@)
3)

(4)

Iebanun Syna Jordan and Egypt

| Lebanon Syna Tu:key and Jordan
Cyprus, Turkey, J ::_lrdan and Egypt

| Tui'kéy, Sﬁia, Iraq and Yemen |

e
. Which nf the statements gwen above is/are |

96.

97,

98.

'
8o e3¢5’ éérr aé&ﬁ«ﬁwdm 0 ?
NG !Ja.quz') | N~
(1) BDod Frib SIRES
2) ST BenY 5B

3) asod desoegadd | Str

@) Durbdewd . Owvo.

65— DS DD TEHOR I3 0BG Ded

20SBNTPOL WSO DO\DB0D. &

W
@)
- 3)

(4)

N0508° %oe; gL ﬁ@boﬂﬁnd :

A, Arddy HHDE WS LAVEATRD DS
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B, goos 5D e & Og” ed,

| 5° 5690 c‘.bnucbé" gnaya 00t &
Hoviren ‘Ddhf.‘.}u'w i

C. eo8d#os” (2014) & STeTH0 Dy od

- 5-J8 DA,
| 20 RDWERD DEOILD ADT® VBID ?

(1) A S6akn B 8ot 0353

2) B 20060t C Botd 93D

3) A, B vdasiw C drgo

(4) C ardo
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99.

100.

101.

102,

103.

e of 44 and a

A country with a crude birth rat
annual

n
crude death rate of 11 would have 8

rate of natural increase of
(1) 33

(2) 33%

(3 3-3%

(4) 5.5%

Which of the following groups of countries 1S
arranged in descending order of area ?

(1) Russia, Canada, China, US.A.
(2)
(3)
(4)

Russia, U.S.A., Canada, China
Russia, Canada, U.S.A., China
" Russia, China, U.S.A., Canada

Which is the mountain between the Black Sea
and Caspian Sea ?

(1) Ural

(2) Caucasus

(3) Alps |

(4) Balkan | ' ks

Sierra Nevada is the name of
(1) An animal of America |
(2)-
(3)
(4)

A disease found iﬁ .Ameriéa
A fruit found in America

A mountain in America

Which ﬂf the following is not a éual field ?
(1) Ramganj |

(2) Umaria .

(3) quabani
4) Korba

99.

100.

101.

102.

103.

[

a8 8% B0dd @ S0 44, SNE N
St 11 esqnd, rDOéijd ocbmc.‘so Séyy
doeh 7 |

(1) 33

(2) 33%

(3) 33%

(4)  5:5%

Dhgss Lo ofss’ D TEw
5B irRgod eyon ?

(1)
(2)
(3)
(4)

B3y, BdG, B, QID. 5.2,
gaxs, 0f.09.9., SdE°, WP
sy, SHE, 030,280, W -
g, B, 0D, DR.9., ST

erE  RAERd TRNADS  RAVEEIS:

2GR0y DE(Ho B ?

(1) es6e

(2) B8N

(3) 9633

4) . wvbb _

ORI 9 DD

(1) o005 28 BoddD)

(2) eoOsS smt{a e.:g. M &@
(3) eHOSTS’D 208 Dot

@)  o2005S'D ws Do

Sl 05’ A ey Q) SeEd
(1)
(2)

(3)
(4)

o°ed fod

&a0daL

002D

ey -
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104. Match the following List I with List II

105.

(Northern hemisphere) and choose the correct

-~ answer.
List 1 List 11
a. Winter solstice I. December, 22
b.  Summer solstice II. June, 21
c .Vernal equinox III. March, 21
d. Autumng] equinox  IV. September, 23
- Codes: o
a b c d
D V. m 1 I
2) 1 IT m - Iv
@) 1 I1 v I
@ IV g m I
The boundary between crust and mantle is
discontinuity. . ) |
(1) Gutenberg |
(2) Moho
(3) Conrad
(4) Sues

106. The bottom topography of an Ocean can be

107.

shown by
(1)
(2)
(3)
(4)

Hydrostatic curve
Altimetric curve
Hypsometric curve

Holometric curve

Yellowstone National Park which is famous
for geysers/hot springs is located in

(1)
(2)
®
(4)

Canada
USA

. New Zealand
Australia

__,.'WF'.“""F‘*"""I"_"'"~""""" L rl ¥

{35

105.

106.

107,

s i)

(@)

[C
104, S0 088 1 & o83 0s I (&gd
tﬂgﬁ‘#n)g 230650C. L
0881 .)535 II
a. dsreo0 I Ao, 22
b. «OGES*0 II. 2zre, 21
¢, Sdodh Daddy ML ardy, 21

4. 26ad IV, e, 23
5‘ &D .
a b c d
(1) IV 111 II I
2 I II 111 IV
3) I II IV III
(4) IV 11 I11 I
8% £ 208S D 206 I eNEINTS
(1) DO E.JQ
Q) DrEF
(3) sroTrE
(4) m55

RANED E'BD RErHBY rer
SO

&IOS 86¢

(2)  B2BS 8¢
(3)  I\DBE b
(4) FS A 86¢

[ROEYDAND ety Toad DR

0O NS 3'*523 Débd &od 7

(1) 3

(2)  CI.JR.Q.

(3 .&5%{’.1”9‘&
bt
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104. Match the following List I with List 1I 104. 595 Qe'_';g [ ¢ T8 ags § (ﬁrjﬁ

105.

106.

107.

(Northern hemisphere) and choose the correct

- answer.
List | List IT
a.  Winter solstice I. December, 22
b. Summer solstice II. June, 21
.¢.  .Vernal equinox III. March, 21

d.  Autumng] equinox IV. September, 23

- Codes ; | o .I
a b c d

M IV m g 1

2) 1 g m - Iv

@) 1 I1 Iv.- . III

@ IV 11 om I

The boundary between crust and mantle is

discontinuity. |

(1) Gutenberg

(2) Moho

(3) Conrad

(4) Sues

The bottom topography of an Ocean can be
shown by

(1)
(2)
(3)
(4)

Hydrostatic curve
Altimetric curve
Hypsometric curve

Holometric curve

Yellowstone National Park which is famous
for geysers/hot springs is located in

(1)
(2)
(3)
(4)

Canada

USA
New Zealand e
-Australi‘al -' b o

105.

106.

- (1)

107,

e.sdﬁ‘-:fu)es‘ 23600,
838 1 ;’JSJQH |
&
a. dsrewo I Ao, 22
b. OGS0 II. 2o, 21
¢, oot dxHdSo 1L 8y, 21

d. 2600 V. 300, 23
§. (Eb .
a b . C d
@ v 1 mo 1
(2) 1 II III IV
3 1 I1 IV IIT
4) IV 11 [1I I
£ & 200BS L W6 €307 QD
(1) DO a:u5
Q)
(3) sroTrh
(4) ‘chr,sfa
RINGYD F'8D YA aer
S DIE
ETOS 86¢
(2)  YGS s8¢

(3)  TYYE 86
S 0NE s8¢
6D a0foDPdE Todd  BRVY

(4)

o°D ades ansb A8) & G0 ?

(1) S

(2)  010.A.Q.
(3) 555“@25&%(5
(4) ufgﬁojy

S’
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112. Which of the fy)

113.

114.

115.

116.

- (4)

explain/s aboyut tro

(i)

Popause ?
Seasonal varig
of tropopause,

(ii)

Doldrums extend on both sides of
(1)
(2)
(3)
(4)

Tropic of Cancer
Tropic of Capricorn
Arctic Circle
Equator

The Suez Canal connects

(1) Baltic Sea and Pacific Ocean
(2)
(3)
Mediterranean Sea and Red Sea

Which of the fnlllﬁwing is not a warm ocean

current ?
(1) Agulhas Current
(2) Humboldt Current

(3)
(4)

Brazil Current

Kurnéhiu Current

OWing statement/s rightly

Mediterranean Sea and Atlantic Ocean

Baltic Sea and Mediterranean Sea st

e —

tion OCcurs in the height r

troposphere ang Stratosphere

(i1) It lies below the stratosphere
(1) () and (iii)

(2) (i) and (i) ,'

(3) (), (ii) and (iii)

(4) (i) and (iii)

oL e s

(1) Rotation of the Earth

(2) Temperature variations

(3) Presence of higher land surface

(4) Shape of the continents

€]

112, 808 o8 QO DELD/ew R0 593,
(B0 DdOROA/ VBB

(i) SV e’ awvehoyeres Al ety
(i) SVID, PE'ID 0 Qg IS &8,

113.

114.

115.

116.

(1)
(2)
(3)
(4)

(iii) e2® Q‘*éﬁ" 0 £ 300 Gotnod.

(i) So00k (iii)

(1) o0 (ii)

(1), (11) SHoadw (i11)
(1) S0k (111)

630 ogfivoss’d M0 Do DAdiyg

SJriEES SeOro

(1) e oo

@) agos'd ardy
(3) ag&m =relela e
(4) oo es5°00

:)%ae.:asne.?‘ Codd) DT D‘@ﬁnwm

(1)
(2)
(3)

(4)

g0),08 B
88 O
€30) ¢38 20). 5
06 o

APOEIS SPe BB geniNod

(1)
(2)

(3)
(4)

e85 Do, DADE WFDAVG
EEBA0DS Do, eI 0e)s
SZFRB0E0

2HE DA0g0, WABTIOHS DB
AHEIALS DAWE0, g9 DAVGO

50 THS DIND IFRADG P
SRR ? |

(1) wﬁsgﬁ) RTPaTP0

(2) ZroeS'S Yariro

(3) Qaﬂts Q0

(4)  anE'HAr Pariro
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117. Which' among the following has the highest |

118.

119.

120.

- (3)

albedo ?
(1)
(2)
(3)
(4)

Snow
Water
Sand

Grass

(D)
(2)
(3)
(4)

Australia
New Zealand

Egypt
" South Africa

Match the following :

List I
(Crops)
a. Barley

~b. Groundnut

c. Ragi
d. Rice -

Codes:

a b
(1) I II
2) 1I
@ IV
(4) " III

I
III
IV

Which one of the following Islamic countries 1s

Zulu tribes are found in

L.
I1.

I1I.
IV.

C

[11
I
I1
II

www.eenadupratibha.net

List I
(Chief Producer)
Karnataka

Uttar Pradesh
Gujarat

West Bengal

-~ 2 2 e

b

predominantly of Shia sect ?

(1)
(2)

Iraq
Iran

(4) Afghanistan

(38)

118.

119.

(1)  avoth
(2) b
(3) %
(4) o

(1)
(2)
(3)
(4)

ufg Dasy
F-'IJ“S&,E.F:.&

éﬂa?,‘?'g_)
GS&es eopyse

ST gerdodt -
:.’:Q.s‘ I
(Dodrey )

a. e.Jﬂé

b. DA3IH
c. TN
d 26

ﬁ‘éa A

(1)
(2)
(3)
(4)

1
11
11
IV

a
I
[1
IV

II1

S 00b ?

(1) o8

Q) AR - e
(3) PSP
(4) GRIP
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< B

c
III
I
I1
II

117. $0 TOG DB G, & D6 ?

&7 Besy ) cootron ?

;’Jgs' I
(0O &3,3)
Sors |

S308 0BT
(HRT°D
':J'g‘)-ﬁ) gdorre

d
IV
IV
I
I

.I

120. 306 Q>S5 dwreds’ DE) 6 DOIT BrS JE D
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